KE Series

Model Numbers and Specifications

Hl Standard KE Models

Tap Holes for Removal L,
* ; jmi====

#D

g; I 1 22 P and P' represent the average contact pressure applied to the
shaft and hub respectively. These values may vary within *
20% depending on the amount of friction applied to the bolts.
:H/ i Transmissible torque Mt and transmissible thrust Pax are
calculated from the minimum allowable contact pressure.
“Note) 3
Mc;del No. Dimensions 1\ | Transmissible Torque | - Transmissible Thust Contact Pressure Locking Bolts Mass
X D
ng?e:)li)ci:;:re:(} ¢ |La| L |Lt|d1|D1 Mt P?X ST__‘C)’H Hl%J’b Quanfly|  Size T'gh'enl'\"/"lgATf)que
mm N - m fkegf-m} kN | {kgf} | MPa kef/mm’| MPa kef/mm?} N - m {kegf-m} kg
PLOOSXO16KE | 8|12 [135)165| 115 185] 751 077] 2861 292 | 223 1228 | 70 + 71| 3 [M3x10| 186 019] 002
PLOO6 X017 KE | 8 (12 [135165 | 125| 195 9.03 092 2.863 292 | 186 3 190 | 66 3 67 | 3 |M3x10 1.863 0.19| 0.02
PLOO8 X021 KE | 10 (145|165 [205 | 166| 235| 245, 25| 596, 608 | 232 | 237 | 8 | 90 | 3 |M4x12| 48, 049| 003
PLOTOX 023 KE | 10 (145|165 [205 | 176| 255 31.43 32 5.%3 608 | 186 3 190 | 80 3 82| 3 |Max12| 48 3 0.49 | 0.04
PLO11 X024 KE | 10 (145|165 [205| 186|265 343, 35| 596 608 | 169 | 17.2 77 1 79 | 3 |[M4xI12| 48, 049| 0.04
PLO12X026KE | 10 145 165|205 |20 |285] 5001 51| 7941 810 | 207 1 211 | 95 1 97 | 4 [M4ax12| 48 049| 005
PLOT4X028KE | 12(175(20 |24 |22 | 305 73.53 7.5 9.903 1010 | 184 3 188 | 92 3 94 | 5 |M4ax14 4.83 0.49 | 0.06
PLOISXO029KE | 12(175(20 (24 |23 [315] 941, 96| 119, 1210 | 207 | 211 | 107 | 109 | 6 |M4x14| 48, 049| 007
PLO16X030KE | 12 (175(20 |24 |24 | 35| 101 3 10.3 11.93 1210 | 194 3 19.8 | 103 3 105 | 6 |M4x14 4.83 0.49 | 0.07
PLO17 X031 KE | 12175(20 |24 |25 | 35| 107 , 109 | 119, 1210 | 182 | 186 | 100 | 102 | 6 |[M4x14| 48, 0.49| 007
PLOI8XO032KE |12 [175[20 |24 |26 |aa5] 113 1 15| 191 1210 | 172 1176 | 97 1 99 | 6 |[M4ax14| 481 049| 008
PLOT9XO033KE | 1217520 [24 |27 | 355 120 3 122 11.93 1210 | 163 3 166 | 94 3 06 | 6 |Max14 4.83 0.49 | 0.08
PLO20X038KE | 15(205(25 (30 |30 |42 | 206 , 210| 194, 1980 | 203 |, 207 | 107 | 109 | 6 [M5x18| 98, 1.0 | 0.4
PLO22X040KE |15 (205(25 |30 |32 |4 | 226 3 231 19.43 1980 | 184 3 188 | 101 3 103 | 6 |[M5x18 9.83 1.0 | 0.15
PLO24X042KE |15(205/25 (30 |34 |46 | 329 | 336| 259, 2640 | 225 | 230 | 128 | 13.1 8 IM5x18| 98, 10| 0.16
PLO25XO43KE | 15(205(25 [30 |35 |47 | 343 | 350| 2591 2640 | 216 1 220 | 125 1 128 | 8 |[M5x18| 981 10| 0.17
PLO28 X046 KE | 17 |225(28 |33 | 385|580 | 432 3 44 29.23 2980 | 191 3 195 | 117 3 119 | 9 |M5x18 98 3 10 | 021
PLOSOXO48KE | 17 |25(28 (33 |405|5 | 515 , 525| 324, 3310 | 199 | 203 | 124 | 127 | 10 [M&6x18| 98, 10 | 022
PLO32XO50KE | 17 (22528 (33 |425|54 | 549 3 56.0 32.43 3310 | 186 3 190 | 120 3 122 | 10 [M5x18| 98 3 1.0 | 0.23
PLO35 X057 KE | 19 (25 (32 |38 |475|¢2 | 678 | 692| 366, 3730 | 172 |, 175 | 106 , 10.8 | 8 |[Mé6x22| 167, 1.7 | 036
PLOSBXOG0KE | 1925 |32 [38 | 50565 | 921 + 940| 4581 4670 | 198 1 202 | 125 | 12.8 | 10 |[M6x22| 167 1 1.7 | 039
PLOAOXO062KE |19 (25 (32 (38 |525|67 | 969 3 989 45.83 4670 | 188 3 192 | 122 3 124 | 10 [M6x22 16.73 1.7 | 0.40
PLO4A2XO064KE | 19 |25 |32 |38 | 54569 | 1010 | 103 | 458, 4670 | 179 | 183 | 118 | 120 | 10 ([Méx22| 167, 1.7 | 0.42
PLOA5 X067 KE | 19|25 (32 (38 |575|72 | 1090 3 m 45.83 4670 | 168 3 171 | 113 3 115 | 10 [M6x22 16.73 1.7 | 044
PLO48 XO70KE | 19 (25 (32 |38 |605|75 | 1390 |, 142 549 | 5600 | 188 | 19.2 | 129 | 132 | 12 |[M6x22| 167, 1.7 | 0.46
PLOSOXO72KE | 19 |26 [345 405|635/ 77 | 1700 + 173 | 6411 6540 | 211 1 215 | 146 1 149 | 14 [M6x25| 1671 1.7 | 050
PLOS5 X077 KE | 19 |26 (345|405 | 675| 82 | 1860 3 190 64.13 6540 | 191 3 195 | 137 3 140 | 14 [M6x25 16.73 1.7 | 055
PLOSOXO82KE | 19 |26 |345 (405 | 725|87 | 2180 | 222 | 686, 7000 | 188 | 19.2 | 137 | 140 | 15 [M6x25| 167, 1.7 | 059
PLO65 X087 KE | 19 26 (345|405 | 775| %2 | 2360 3 241 68.63 7000 | 173 3 17.7 | 129 3 132 | 15 [M6x25 16.73 1.7 | 063
PLO70 X 097 KE | 22 (315 |40.5 |485 | 855102 | 3750 |, 383 101 10300 | 206 | 21.0 | 148 | 151 | 12 |[M8x30| 402 | 4.1 | 0.99
PLO75 X 102KE | 22 |315 |405 |48.5 | 905/107 | 4030 : m | o 310300 192 : 196 | 141 | 144 | 12 |[M8x30| 4021 41| 1.0
PLOBOX 107 KE | 22 (315|415 |495 | 955/112 | 5010 | 511 | 118 '12000 | 210 ' 21.4 | 157 3 160 | 14 [M8x30| 402 3 a1 |
PLOS5 X 112 KE | 22 |315 415 495 1005117 | 5320 | 543 | 118 112000 | 198 | 202 | 150 | 1563 | 14 |[M8x30| 402 41 | 1.2
PLOSOX 123 KE | 29 |415 |54 |64 [1095128 | 8960 3 914 | 187 319100 224 3 229 | 165 3 168 | 14 |MI10x 40 81.33 83 | 2.
PLO95 X 128 KE | 29 415 (54 |64 [1145[133 | 9460 | 965 187 119100 | 213 |, 21.7 | 158 | 16.1 | 14 [MI0x 40| 813, 83 | 22
PLIOOX 133KE | 29 41554 |64 |195138 | 9900 ' 1010 | 187 119100 | 203 ' 207 | 152 ' 155 | 14 |MI0x40| 8131 83| 2.3

Notes) 1. Stocked models are in bold.
2. Mt indicates torque at 0 transmissible thrust, while Pax indicates transmissible thrust at 0 torque. If transmissible torque and thrust apply
simultaneously calculate and compare the combined value with the transmissible torque provided in the table.
3. Dimensions when this product is attached to the shaft and hub.

37



